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Run ID Time User name Problem Language Result Tests Score
8 0:09:08 inf24f 129 1 g++ OK 28 100

119 2:05:51 inf24f 129 2 g++ 0K 28 100

68 1:14:13 inf24f_ 129 3 g++ Partial solution 11 32

24 0:27:59 inf24f_ 129 5 g++ 0K 22 100

332 Texmumueckux 6amnna

66 mTOrOBHX 6aJIoB
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[1] #include <bits/stdc++.h>
[2] using 11 = long leong;
[3] using namespace std;

[4]

[5] int main() {

[6] vector<ll> a;

[7] a.push_back(8);

[8] a.push_back(®);

[9] a.push_back(1);

[18] 11 len = 3;

[11] 11 maxx = (1 << 24);

[12] while (a[len - 1] < maxx) {
[13] [fcout << len << " " << a[len - 1] << " " << maxx << endl;
[14] a.push_back(a[len - 1] + a[len - 2] + a[len - 3]);
[15] len += 1;

[16]

[17] //cout << "sz M << a.size();
[18] 11 n;

[19] cin »>> n;

[28] 11 ans = @;

[21] for (int i = @; i < n; i++) {
[22] 11 t;

[23] cin »> t;

[24] 11 cnt = @;

[25] for (int j = a.size() - 1; 7 » 1; j--) {
[26] if (t >= a[j]) {

[27] cnt += 1;

[28] t = a[3];

[29] ¥

[3e] ¥

[31] [/cout << cnt << endl;
[32] ans += cnt % 2;

[33] }

[34] cout << ans << endl;

[3517
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#include <bits/stdc++.h>
using 11 = long long;
using namespace std;
vector<vector<ll>> gr;
vector<{char> color;
map<char, vector<ll»> cnt;

bool c(pair<vector<ll>, char> 1, pair<vector<ll>, char> r) {
if (l.first == r.first) {
return l.second > r.second;
}
bool ans = 1.first.size() >= r.first.size();
for (int i = @; 1 < min(l.first.size(), r.first.size()); i++) {
if (Ll.first[i] > r.first[i]) {
ans = true;
break;
} else if (1.first[i] < r.first[i]) {
ans = false;
break;
¥
}
return ans;

b

11 create(string s, 11 ind) {
Jicout << s << " " << ind << endl;
if (se] 1= Q") {

return 1;
3

M4 =1
for (int _ = @; _ < 4; _++) {
gr[ind].push_back(ind + i);

if (s[i] == '@") {

i += create(s.substr(i, s.size() - i), ind + 1i);
¥
i+=1;

X

return 1 - 1;

}

void dfs(11 v, 11 x) {
Jfcout << v << " " << x << endl;
ent[color[v]][x * 2] += 1;
for (auto e : gr[v]) {
dfs(e, x + 1);
1
b

vector<1l> norm(vector<ll> 1st) {
for(int i = 1364; i > 8; i--) {
Tst[i - 1] += 1st[i] / 2;
1st[i] %= 2;

return lst;

¥

int main() {

string s;

cin »> s;

11l n = s.size();

gr.resize(n);

color.resize(n);

for (int 1 = @; i < n; i++) {
color[i] = s[i];

create(s, @);

for (auto e : "QWROYGCBVD") {
cnt[e] = vector<11>(1365, @);

}
dfs(e, @);

vector<pair<vector<ll>, char>> ans;
for (auto e : cnt) {
if (e.first != 'Q') ans.push_back({norm(e.second), e.first});
ffcout << e.first << " "
//for (auto e : norm(e.second)) {
I cout << e << " "
/1y

//cout << endl;

sort(ans.begin(), ans.end(), c);
cout << ans[@].second << endl;
cout << ans[@].first[@] << "." <« ans[@].first[1];
11 maxx = 2;
for (int i = 2; i < ans[0].first.size(); i++) {
if (ans[@].first[i] == 1) {
x = 1+ 1;
}
1
for (int 1 = 2; 1 < maxx; i++) {
cout << ans[@].first[i];
}

cout << endl;

}
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[1] #include <bits/stdc++.h>
[2] wusing 11 = long long;
[3] using namespace std;

[4]

[5] wector<string> x = {"()", ">", ">I", USLIM U TLIM ) et vt oMt Mt el oty
[6]

[7] 11 ind(vector<string> x, string y) {

[8] 11 ans = -1;

[9] for (int 1 = 8; i <= 10; i++) {

[1e] if (y == x[i]) {

[11] ans = 1i;

[12] }

[13] ¥

[14] return ans;

[15] %

[16]

[17] 11 from(string s) {

[18] 11 n = s.size();

[19] string now;

[20] 11 1 = @;

[21] vector<1ll> ans;

[22] 11 delt = 1;

[23] if ((s[n - 1] == ">") || (s[n - 1] == '<")) delt = @;
[24] while (i < (n - delt)) {

[25] now = now + s[i];

[26] while (i < (n - 1) && (ind(x, now) != -1 || now == "(")) {
[27] i 4= 1;

[28] now = now + s[i];

[29] ¥

[30] if (ind(x, now) == -1) {

[31] i-=1;

[32] now = now.substr(@, now.size() - 1);
[33] }

[34] flcout << now << " " << ind(x, now) << " " << s << " " << 1 << endl;
[35] ans.push_back(ind(x, now));

[36] now = "";

[37] i+=1;

[38] ¥

[39] //reverse(ans.begin(), ans.end());
[48] 11 ten = 1;

[41] 11 res = @;

[42] for (int j = @; j < ans.size(); j++) {
[43] res += ten * ans[j];

[44] ten = ten * 18;

[45] 3

[46] return res;

[47]1 }

[48]

[49] string to(ll n) {

[58] string ans = "";

[51] vector<1ll> nums;

[52] while (n != @ || nums.size() == 8) {
[53] nums.push_back(n % 18);

[54] n=mn/ 18;

[55] ¥



[56]
[57]
[58]
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[181]
[182]
[183]
[184]
[185]
[1e6]

int

}

for (int i = @; i < nums.size() - 1; i++) {
if (nums[i] == @) {
nums[i] = 18;
nums[i + 1] -= 1;
}

ans = ans + x[nums[i]];

if (nums[nums.size() - 1 != @] || nums.size() == 1) {
ans = ans + x[nums[nums.size() - 1]];

//reverse{nums_begin(), nums.end());
return ans;

main() {
/%
cout << from("()") << " " << to(@) << endl;
cout << from("<?") << " " << to(18) << endl;
cout << from(">11131<?3") << ™ " << to(2024) << endl;
*/
11 n;
cin »» n;
11 ansi = @, ansj
11 minn = 8, maxx
vector<ll> lst;
for (int i = @8; i

string s;

cin >> s;

11 n = from(s);

[flcout << s << " " << n << endl;

1st.push_back(n);

if (1 1=0) {

if ((abs(lst[ansi] - 1st[ansj]) < abs(lst[minn] - 1st[i])) || (abs(lst[ansi] - 1st[ansj]) == abs(lst[minn] - 1st[i]) && ((ansi + ansj)
ansi = minn;
ansj = 1i;

nwon
@
v

~
=]

; i++H) {

T
if ((abs(lst[ansi] - 1lst[ansj]) < abs(lst[maxx] - 1st[i])) || (abs(lst[ansi] - 1lst[ansj]) == abs(lst[maxx] - 1st[i]) && ((ansi + ansj)
ansi = maxx;

ansj i;
}
}
if (lst[minn] > 1lst[i]) {
minn = 1i;

}
if (lst[maxx] < 1lst[i]) {
maxx = 1i;
}
}
[//cout << ansi << " " << ansj << endl;
cout << to(ansi + 1) << endl << to(ansj + 1) << endl;
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[1] #include <bits/stdc++.h>
[2] using 11 = long long;
[3] using namespace std;

[4]

[5] dint main() {

[6] string s, x;

[7] cin >> s >> x;

[8] 11 n = s.size();

[9] vector<1l> cnt(126, @), now(126, 8);

[18] for (auto e : x) {

[11] cntle - "1'] += 1;

[12] 3

[13] 11 ansi= @, ansj = 8;

[14] 11i =8, j=28;

[15] set<char> must;

[16] for (auto e : x) {

[17] must.insert(e);

[18] 3

[19] while (7 < n) {

[20] while (j < n && must.size() » @) {

[21] now[s[j] - "!I'] += 1;

[22] if (now[s[3j] - *!'] »= ent[s[3] - "!']) {
[23] must.erase(s[j]);

[24] h

[25] J+=1;

[26] 3

[27] Jlcout << ansi << " M << ansj << " M << 1 <M M < J <« " " << must.size() << endl;
[28] if (must.size() == @ && (ansj == @ || (ansj - ansi) > (j - i))) {
[29] ansi = 1i;

[3e] ansj = j;

[31] 3

[32] now[s[i] - "!'] -= 1;

[33] if (now[s[i] - "!'] < ent[s[i] - '1']) {
[34] must.insert(s[i]);

[35] }

[36] i4=1;

[37] 3

[38] for (int i = ansi; i < ansj; i++) {

[39] cout << s[i];

[4e] 1

[41] cout << endl;

(421}



